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GARBLED CIRCUIT PROTOCOL
-

F-WE
,
WY FOR EACH WIRE

1-

INPUT WIRES

Alice Bob

O
.
Bob SAMPLES Wow

,
win FOR EACH WIRE w .

I
.

Bob 'S INPUT WIRES : SEND Wnba, TO Alice
.

Alice's INPUT WIRES : TUN OT WITH

a a e

Alice CHOOSING Wrath FROM (Wo , Wi ) .

2. RUN GARBLED GATE PROTOCOL IN

ORDER OF GATES SO Alice LEARNS

Wvwakw) IN SEQUENCE.

3
.

Alice SENDS OUTPUT Z=WfaYYouH TO
Bob

. Bob OUTPUTS 24913 ST. 2- Wog!



ENWY : UNLESS ANY GARBLED

GATE PROTOCOL FAILS
,
z MUST EQUAL f- (x

, y),
SO IT WORKS WITH PROB

. I - O (size(c) - 2- k)
.

SECURITY : Alice 's VIEW = RANDOM VALUES Wrwakw,
+ VIEWS IN OT / GARBLED GATE PROTOCOLS .

CAN COMPOSE SIMULATORS FOR THEM .

-

Bob 's OTI GARBLED GATE PROTOCOL VIEWS CAN

BE SIMULATED FROM His RANDOMNESS WI,WY .

Alice 's LAST MESSAGE W too, CA.N BE
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out
2 .

Bob CAN EXECUTE GARBLED GATE PROTOCOLS

IN PARALLEL → 3 MESSAGE PROTOCOL
- re

INDEPENDENT OF size (c) !

NEXTZLECTUR.ES# : MALICIOUS Alice /Bob

THAT MAY DEVIATE FROM PROTOCOL INSTRUCTIONS
.

STRATEGY ? COMMIT TO FOLLOW INSTRUCTIONS
-

AND PROVE THAT YOU DID

→ WITHOUT REVEALING TOUR
INPUTS ! ZERO-KNOWLEDGE



5EUR17 ASSUMES Alice @ Bob follow
INSTRUCTIONS .

ENSURE 5EUR17 AGAINST ADVERSARIES

THAT MIGHT DEVIATE FROM INSTRUCTIONS
.

STRATIFY COMPILE PROTOCOL SECURE

AGAINST HONEST- Brt-curious TO

SECURITY AM NST Malicious .

ZERO - KNOWLEDGE PROOFS
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